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The figures in the margin indicate. full marks
for the questions
1. oo frm em{« o1 B% %wm aﬂ% oRie
R e =91) ¢ o 1x6=6
Choose the correct answer from the following -
(any six) : -
(@) AW W ™ GE mef@ ﬂﬁ— =,
fRReAzR I T A |

(i) d=f1—“;£%:wm@wmett§w
(i) d=%&wmwﬂ«w§waﬁ
(iii) d=ﬁ;—h-wmwtmﬂtﬁw
(iv) d=£1—;-f—2w$'cm'wmﬂt§w=ﬁi
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. _hi-f
(iv) d——_z.

and the lenses are not

in contact

(2) (3)
When two lenses are of same material, (c) SRS ARGS W el
~ the condition of achromatism is () PN SRER
i) -4 f 21272 and the lenses are in (@) > AR
contact (i) TV AT
" fy) €oRT ABIILON T
i) d= h f2 and the lenses are not “
in contact : In dxffractlon,: }he bright fringes are of
o fiefa () unequal intensities
i) d=22—=2 .
) 5 ndthelensesarein (i) equal intensities
contact

(i) zero intensity .

(iv) All of the above are correct

@ 'ﬂﬂﬂ_ﬁ%wmﬁwmwmmﬁl
Qe e IR e XA
(b) aﬁﬁ-ﬁw@mcwq’a 0 A@mm
U 600. (i) Rw
@ T (i) A
(i)

(iv) S°R3 <bre wzy

The angle of prism of a biprism is
() 60°

(i) acute

(iii) obtuse

(iv) None of the above

(iv) I3 dore A

Light is incident normally on a circular
disc. The 'intensity at the centre of the
region of geometrical shadow is

(i) zero

- (i) minimum

(i) maximum

(iv) None of the above
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(4) (5)

(e = tani, ¥ RIFC R
) » ' S (g) TRETERR RS I[T wae R ©FR)

() @Eo=I 74 W T T

@) 51 g ) T HF TR AT

(i) ¥ S o ) | () T S R SR
(iv) TR@G (i) ST S AR T
The expression ji = taniis called o (iv) PR WF ST SR

i) Malus’law ‘ : :
0 The components of electric vector in case

(i) Snell’s law o ' of elliptically polarized light are
(i) Fermat'slaw () equal and perpendicular to each
(iv) Brewsi..';r’s law other
R T R , (i) equal and parallel to each other
(N WSS I R FR7 =R ‘ ' (i) unequal and perpendicular to each
other

i) &= AfSTeT T
(i) 9 AfRR Ty

(i) mwm:tmm Z.ﬁmﬁmwm 2x6=12
(iv) 8°/] qbre Wy Answer any six questions :

‘ (w) unequél and parallel to eaéh other

Polarized tiant oo T (@) 0-15 m S IR T T&= o7 oS omR | If
olarized hght can be Produced ™ IR IR [{C 005 m |, (B® &

) only byreflection IRBR Tgen A 77 R 232

(i) only byrefraction - Two convex lenses each of focal length

'0:15m are in combination. If they are
separated by 0-05m, then what will

(iii) by both of reflection and refraction

(iv) Nqne of the above ‘ | . be the equivalent focal length of the
. : : | combination?
4 |
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(6)

(b) @ BT IR (wIS SRR SR Y Bl
AR IS TR 0 e 27 | FURR BaI
RIS cryar fratet aft <R o w1 |
Draw a diagram to show that in case of
refraction through a convex lens the

incoming diverging wavefront becomes
convergent after refraction.

(©) ‘zﬁmmﬂ«ﬂﬁﬁw&ﬁm
SRTE 7 '

What are. the conditions for sustained
interference of light? ’

(d) R-efma Rr vts frar
What is double refraction? Write in brief.

(e) . WWWWWW@IWWWW l

Mention two differences between .Fresnel
. and Fraunhofer diffraction.

() 20 cm Oy <1 S5re . ay Ff3-GoR =
TR TS <l (o1 o 270 R
M | TR G ST 47 pofaq &
RANRGIR (XL R R 54°,

A camphor-alcohol solution in a tube of

length 20 em can rotate the ‘plane of

vibration of light by 27°. Find the mass of
camphor in unit volume of solution. Given
the specific rotation of camptior is 54°.
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(7)

(g) <O I AP SHI 9IRS @1 o7 |
~ Write a few lines on optic axis of a crystal.

‘3. R e *fivht 2R Tey TR

6x5=30
Answer any five questions :
(a) SR AR cva® &M @
f= fifz |
h+/fa —d‘
¢ T ES W 1w (optical
separation) ¥ ? S+1=6

Y

+ Q
AVARVA

From the diagram shown above, show
that '
f __hhfa
h+fa-d

What is the optical separation between
the two lenses?
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(8)

(b) - INGER SCAG N IR ARG 90 A
RS =1 2R R e o SR A R

TEY T, @ FR-AHRE CFES | 5+1=6

Give the construction and working
principle of 'a Ramsden eyepiece or
Huygens’ eyepiece. Mention at least one

advantage or msadvantage of it regarding
cross-wire.

() W@@ﬁmwpﬁﬁs%ﬁ@m—«ﬂ
@ﬁwwmﬂwwﬁmmﬁmﬁ%

ey w1 -

o 2m(xd

5=2H%)
o mafzmtﬂwm*’tﬁmtaﬁas 24T
an |

A
vl

4+2=6
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(9)

From the diagram shown below,; derive an
expression for phase. difference between
the lighit waves reaching the pomt Pin

the form
e
A\UD /)

Draw the graphical representation of
intensity  distribution with phase
difference. -

A
U T

©IJ/ Or

3.(c) 2y e 11 R o o1 et 1

wﬁawmﬁcﬁwwﬁx 5100 A,

D= 200cmwzanﬂﬁav10ﬁﬂﬁaﬁ

@,MAWBawmﬂWWIW
Rz R 3+(2+1)=6
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( 10)

From the diagram shown in Q. No. 3.(c),

. find the distance between any two

(d)

(o)

p15—3500/449

consecutive .bright or -dark fringes. If
A=5100 A, D=200cm and there are

10 fringes in a distance of 2 cm, then
calculate the distance between A and B.
What is the distance said to be?

o-opfEe g7 [ 0 ASE iy-owHmer 9%

- i Ry T, 9O wY-orfERE NeeE I
= 237 1+4+1=6

What are half-period zones? Find tl'}e
area of second half-period zone. What will
be the area of third half-period zone?

Tl e FTRES HF /[ agord 4
FORRE SRR SO M FA 1 @B T8
e 3w T@ T w6 opa IR ABR,

TEe 0 4V, +1%=6

Discuss the superposition of two plane-
polarized waves having . vibrations
perpendicular to each other. Mention

under what condition a circle will be
formed.

ﬁ%@ﬁmmw @ B! Rerrera 351 ol
TR TS, SRS TYRe (oSS SRS

TR RIS BRI 1R 1

Explain with a labelled diagram that how
can we ascertain with the help of two
specially cut tourmaline crystals that
ordinary light can be transformed into
plane polarized light.
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(11)

4. ooe i R I PR e e 5 GRT forT : 4x2=8
Write short notes on any two of the following :

A
(a) Py calb
% plate

(b) SRR G
Optical rotation

(c) T A HRwT 73

Telescope or microscope
(d) &7 3o
Zone plate

% % %
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